VCE & PDF https://www.passapply.com/ccp.html
2024 Latest passapply CCP PDF and VCE dumps Download

PassApply.com

CCpRaAs

Certified Cost Professional (CCP) Exam

Pass AACE International CCP Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/ccp.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by AACE
International Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest CCP Dumps | CCP PDF Dumps | CCP Study Guide 1/9


https://www.passapply.com/ccp.html
https://www.passapply.com/ccp.html
https://www.passapply.com/ccp.html

VCE & PDF https://www.passapply.com/ccp.html

2024 Latest passapply CCP PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

Some of the principles of good communication are:

A. Seek to clarify your ideas before communicating; examine the true purpose of each communication; consider the total
physical and human setting whenever you communicate; be mindful, while you communicate, of the overtones as well

as the basic content of the message

B. Tell the other person what to do; give insincere praise; psychoanalyze the other person; make light of a serious
problem; do not gain the trust of anyone; always have a hidden agenda

C. Use short words; avoid jargon; avoid acronyms and abbreviations; use complete sentences; have a beginning,
middle and end; be accurate; be interested in what topic is being communicated

D. The social process by which people in a specific situation construct meaning using symbolic behavior

Correct Answer: C

QUESTION 2

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

When analyzing a precedence diagram schedule, the "backward pass"

A. Allows total float to be calculated

B. Determines the duration of each activity

C. Calculates the earliest allowable start and finish times for the activities in the schedule

D. Allows activities to finish as soon as all their \\'predecessor\\' relationships are satisfied

Correct Answer: C

QUESTION 3
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You have been hired as the cost engineer for a mechanical contractor and have besn
provided the following information

Tatal budgeted hours 12,000
The planned project duration in days 130

Rules of credit are as follows:

Pipe received 5%
Hangers installed 10%
Pipe in place 0%
Welded 50%
Flushed 5%

The following question requires your selection of CCC/CCE Scenario 2 (2.3.50.1.2) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. 9,375 hours have been
expended to date. Planned completion at this time is 75%. The project is determined to be 66% complete. Based on
current trends, how many hours will be expended at project completion?

A. 16,215

B. 14,201

C. 12,000

D. 10,526

Correct Answer: D

QUESTION 4

An agricultural corporation that paid 53% in income tax wanted to build a grain elevator designed to last twenty-five (25)
years at a cost of $80,000 with no salvage value. Annual income generated would be $22,500 and annual expenditures

were to be $12,000.

Answer the question using a straight line depreciation and a 10% interest rate.

Which of the following would NOT be considered part of a project cost and schedule forecast?
A. Usage of contingency

B. Current trends of time and money

C. Peripherals report

D. Changes to the project execution plan

Correct Answer: C

QUESTION 5
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Given the two organization structures below, answer the question.

A
Engineer-Owner

contractor contractor contractor

subcontractors subcontractors subcontractors

Owner
|

i
Engineer/Contractor

subcontractors

The following question requires your selection of CCC/CCE Scenario 28 (3.7.50.1.7) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. If the owner in B has as his
primary goal to get the project completed and on line as fast as possible, then he would most likely use the

type of contract.

A. Cost plus

B. Lump sum

C. Unit Rate

D. Lump sum + incentive

Correct Answer: D

QUESTION 6
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You have been hired as the cost engineer for a mechanical contractor and have been
provided the following information:

Total budgeted hours 12,000
The planned project duration in days 130

Rules of credit are as follows:

Pipe receved 5%
Hangers inslalled 10%
Fipe in place 30%
Welded 50%
Flushed 5%

The following question requires your selection of CCC/CCE Scenario 2 (2.3.50.1.2) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. 10,278 hours have been
expended to date. The CPI at this point in time is 0.93. SPI is 1.03. How many hours were planned?

A. 10,586

B. 9,280

C. 9,559

D. 10,278

Correct Answer: A

QUESTION 7

Money is value. Having money when you need it is very important. Money can also be valuable when used wisely by
knowing when to spend and when to conserve Also, planning now for future expenses can be a plus to the company
rather

than a debit.

There are several ways to capitalize money and spending. Basically there is the single payment method that has a
compound amount factor and a present worth factor. There is the uniform annual series that has a sinking fund factor,

capital

recovery factor and also the compound amount factor and present worth factor. At this point, we can assure money is
worth 10%.

The following question requires your selection of CCC/CCE Scenario 7 (4.8.50.1.1) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. If the company needs to
repay a loan of $100,000 in 10 uniform annual payments, how much will each payment be?

A. $16,380

B. $16,578

C. $15,937

D. $16,273
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Correct Answer: D

QUESTION 8

When a person hears the words being said to him/her, but does not receive the message of the words, it is called
A. Reflective listening

B. Judgmental listening

C. Passive listening

D. Directive listening

Correct Answer: C

QUESTION 9

You have estimated that the present day price for a piece of equipment i1s $350.000.
The delivery of the equipment is scheduled 30 months from today. The price of the
equipment has been separated into the following categornies:

Category Percent
Steel 30
Copper 30
Manufacturing Labor 40

Based on information from forecasting services, the current cost index value and the
expected inflation rate for each commodity is as follows:

INFLATION RATE (projected)
Commodity Currentindex |Year1 |Year2 |Year3 |Yeard
Steel 2.40 2.6% 2.5% 3.0% 2.0%
Copper 4.20 1.0% 1.5% 2.0% 2.0%
Manufacturing Labor | 6.50 25% 3.0% 3.0% 3.5%

The following question requires your selection of CCC/CCE Scenario 4 (2.7.50.1.1) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. At the end of 30 months,
the final price for the piece of equipment will be:

A. $328,810

B. $370,710

C. $375,658
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D. $378,750

Correct Answer: C

QUESTION 10

Productivity increases with time. This improvement is commonly associated with improvements in efficiency brought
about by increased experience and skill levels. What does this scenario describe?

A. Productivity efficiency factor
B. Value engineering

C. Cash flow

D. The learning curve

Correct Answer: D

QUESTION 11
is defined as the budget for the cost (work) account times the percent complete for that account.
A. Percent complete
B. Forecast
C. Cost to complete
D. Earned value

Correct Answer: D

QUESTION 12
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You are analyzing histonc unit costs for 18" Class 5 reinforced concrele pipe in a
database. The unit costs include all costs - matenal, labor, equipment, and other, for the
excavalion, bedding, pipe and backfill. Refer lo the following table

BID DATE | LOCATION ESTIMATED UNIT COST
QUANTITY
3/11/03 Cincinnati, OH, USA 147 555.00
0/14/05 Eau Clair, Wi, USA 143 $34 50
8/17/06 Louisville, KY, USA 462 537.30
B/31/05 Atlanta, GA, USA 530 $55.00
1119/04 Atlanta, GA, USA 308 34000
1/26/05 Atlanta, GA USA 45 826.78
2rao7 Demver, COLISA 256 B46 50
4/18/06 Colorado Springs, CO, 176 575.00
USA
4/18/06 Colorado Spnngs, CO, 80 36500
USA

The following question requires your selection of CCC/CCE Scenario 6 (2.7.50.1.3) from the right side of your split
screen., using the drop down menu, to reference during your response/choice of responses. Calculate the weighted
average unit cost.

A. $46.13

B. $47.63

C. $48.35

D. $48.09

Correct Answer: C

QUESTION 13

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

The project scheduler left the company and has left unfinished work. You have been hired as the new project scheduler
and must update the existing schedule. What will be your first task?

A. Recalculate the early finish for each activity

B. Recalculate the early start for each activity

C. Update the remaining duration for each activity
D. Recalculate the critical path

Correct Answer: D
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QUESTION 14

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is

awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

The following question requires your selection of CCC/CCE Scenario 26(2.5.50.1.2) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses.

Select the statement that best describes the meaning of the +/-notations associated with an estimate. The actual cost is
expected:

A. To be exactly the percentages stated

B. To fall within the percentage range stated

C. To be higher or lower that the percentages stated
D. To be outside the percentages stated

Correct Answer: B

QUESTION 15

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

You are reporting on a roadway project, which was estimated to be 10 miles of road. It was scheduled to be completed
in 16 weeks, which is this week. According to your calculations, the project has a schedule performance index of 0.80.
What would you advise the management about the scheduled completion date?

A. Project will be completed in 20 more weeks

B. Project will be completed this week - on schedule

C. Project will be completed in 4 more weeks

D. Project will be completed in 12.8 more weeks

Correct Answer: C
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